Optional parts of EW50

SURUGA
SEIKIVF—

The EW50 consists of a 12-axis controller, two 6—axis Motorized stages and a connection cables.
This is the list of standard products that are necessary for use by customers.

We would appreciate it if you could consider the excess or deficiency at you and place an order at
the same time as ordering EW50.

Please contact with us if you need custom parts.

SURUGA SEIKI CO., LTD. SI SALES DEPARTMENT SI SALES UNIT
Issue:2023/8/1
Ver.1.0



g'é'ﬁ(‘l’& EW50 Accessories List

Configuration of Accessories (EX)

Waveguide Holder
Fiber Holder

e ————— e —

7~ Vacuum Pomp




glélllla(lilgﬁ EW50 Accessories List

@®Unit for the device holder. It can be specified the height for each 1Tmm.

S

SPEC

Model E1000-h

Height h+15.5mm

Base plate A24-7

Main materials * Surface processing Aluminium—ABIlack alumite treatment

Accessory: Installation screws (Hexagon socket head 2 of M6-12)

Dimensional outline drawings

4 ) BE1000-h 2-M slotted hole for bolt
BExample for using
Waveguide 3 | | ; 2R
|4

WG holder

32 \
40 6-M3 6DP

25 475
,____\ 80
Key

Preset baseE410-B
*Not to be attachable

to the tilt stage
0 2 Device unit E1000
(No key) LT

| 55

3.5

10




E'é'.'.‘(lf& EW50 Accessories List

Preset Waveguide Holder Unit: E410

@®This holder is combined with E410-B and E400.
@®When a variety of element size, should be changed only E400 to match the size what you want.
@®Install to the stage unit E1000.

Model Absorption area hold operation Weight Main materials + Surface processing
E410-6 6X38mm 0.14kg
E410-8 8X38mm _ 0.15kg
E410-10 10X38mm Vacuuming + 0.16kg Aluminium—
E410-20 20X38mm Mech e clam 0.23kg Alumite finishing
E410-30 30X38mm 0.30kg
E410-40 40X38mm 0.37kg
Accessory: 2m of silicon hose and installation screws (Hexagon socket head 4 of M3-10)
Model Device attached surface Hold operation Weight Main materials + Surface processing
E410-8N 8X38mm 0.15kg Alumin
. uminium—
E410-10N 10X38mm Mechanical clamp 0.17kg Alumite finishing
E410-20N 20X38mm 0.23kg
Accessory: Installation screws (Hexagon socket head 4 of M3-10)
- N
MExample for using BWE410-6

L)~

Waveguide

WG holder

E400
T L = »
= [, _m£
Précet hacaFA10.R I
# Not to be attachable 8
to the tilt stage Base
g Z/ Device unit E1000 = N I
No key) ﬁ_[ A Is
L okey y {F i
40 9 485 4




SURUGA
SEIKIV

EW50 Accessories List

Preset wave guide holder (mechanical clamp type): E 400

@®Add the clamp from the upper side to E400.Improved holding power by mechanical clamp.

@®No vacuum function.

@Install to the preset base plate E410-B.

-

BMExample for using

E410-B L J)— /5

sold separately Waveguide /

¢

Y,

Preset baseE410-B

WG holcer J f :

\

—a

B ——

éé? &’fj

\_

% Not to be attachable
to the tilt stage

Device unit E1000

(No key)

J

Model Device attached surface Hold operation Weight Main materials + Surface processing
E400-8N 8X38mm 0.10kg Aluminum-
E400-10N 10X38mm Mechanical clamp 0.12kg Black alumite
E400-20N 20X38mm 0.18kg treatment
E400-N
Dimensional outline drawings
BE400-8N BE400-10N BE400-20N
35, 989 35, 385 35, 385 M Details of the mechanical clamp
Lo Lo Lo
o ‘ o ‘ ‘ 0 ‘ ‘ Available replacement 2 5 =
e 7|_. m'il" 5mm to the right —1—1 N
| gEEerEl wie 3 @Eelm =19 3 B ,GF 89 i =
- I-| - I-| = | BN il
“ “ Y 4
= ) o s N ' H N @ —J
| ' | m -5y
L\.\\ \ -
E E E Adjustable 2mm of mechanical clamp
height adjustment screw
I 2 I = | 2
15| 42 15] 42 15| 42
57 57 57



g'é'ﬁ(‘i'ﬁﬁ EW50 Accessories List

@The pre-set type holder is mounted on pre-set base.
Quick-release with mounting a positioning pin and clamp, and also it is good for the reproducibility of the position.

Preset base

¥
v

/.E:-:arnpla for using \

eset style FA holder




SURUGA
SEIKID—

EW50 Accessories List

Preset Base: E300

@ The preset holder installed on the base plate.
@Install to each stage unit.

M Example

Clamp

an V groove holder

l Positioning pin

M Model/ Option
L
E300-
—l—— Select a clamp arm direction

Type of holder

Model E300-L E300-R
Applicable holders E310/E330/E340

Mounting Mechanical clamp

Weight 0.05kg

Main materials * Surface processing Aluminium—Alumite finishing

Accessory: Installation screw (hexagon socket head cap bolt 2 of M3-10)

ME300-L
40 6
20 6.5 2-M3 slotted hole for bolt 25
3 u
A———+-X —W L]
\.|—J 1]
e S /[
N . o
Positioning pin —
o |l Lo
5l 4 ]
[ ] |
=D CRN=E
. = / —
[E Clam
} 12.5 | 11
25 @6 |
A 08

O

16.5




SURUGA
SEIKIPF

EW50 Accessories List

Preset Fiber Holder: E310

@Preset fiber holder.

@Install to the base plate E300.

Clamp

V groove hold :r

rositoning pin

E310-

M Model/ Option

1]IL]
2/[R|

L Select a clamp arm direction
Select a jacket diameter

1:250um. 2:900um

Holder model

Model E310-1L/R E310-2L/R
Clad diameter 125um

jacket diameter 250um \ 900um
Mounting Magnetic force

Weight 0.01kg

Main materials * Surface processing Aluminum-White alumite treatment

No surface treatment of V groove part

BE310-1L BE310-1R
Fiber jacket Fiber clad Fiber clad Fiber jacket
V groove for holding V groove for holding V groove for holding V groove for holding
J[ H [ ]
[’_jg@@: o/ S - P{l
25 — 25
||' |“ |||| || u;: E ,/| I ||| ; E I | |||| | |||| E;
';;:':;:f L_J:! i:% o : I_W%QT' 0 :_J:EL_J ﬁ-ﬁ
| 3




g'é'l'?(‘ilgﬁ EW50 Accessories List

®Preset V groove holder for cylindrical elements.
@Install to the base plate E300.
@Please choose a compatible with element diameter (¢ d) when you order. BModel/Option

Q@'@'E

J Select a clamp arm direction

Applicable diameter d
1~5mm every 0.1mm

Holder model

Model E330-d-L/R
Applicable diameter (¢d) ¢1~5mm (every 0.1mm)
Mounting Mechanical clamp
Weight 0.01kg

Main materials * Surface processing Aluminium—Alumite finishing

No surface treatment of V groove part

/lExarn ple for using ) ME330-d-L BE330-d-R
55 16 35 35 16 , 5.5
Lo Lo
3 =N |
[ L
Lo - Lo
=l - =
l rosituoning pin
Clamp / o5 .

Knob for clamping Knob for clamping

_F O F e T

:
] =

=g
]

_[:
—[_

4.8 (MAX 13
4.8 (MAX 13)




g'é'l'?('ilgﬁ EW50 Accessories List

Preset type fiber array holder: E340

@Install to the base plate E300.
@®Please choose a fiber array size when you order.

MMounting

%\ M Model/Option
2 4 A
=) .

il
RS

T SelectaFA (W)
A:3~bmm B:5~8mm C:8~12mm
SelectaF.A (H)

WFiber array size
Please use a fiber array bellows size or less.

L B
t
L : min 3mm
W:3~12mm
Wt 1~15 2~25, 3~35mm
]

Clamp

Knob for clamping

|
"
w

3.5~4.5
O
[
|

i
‘55‘ (MAX 11

—\ .

MExampl ! . .
e Pimismm 2 '.2~,2‘5mm 3+ 3-35mm s#%Please ask us for detail of the size.
Select a clamp arm direction
Holder model
Model E340L/R
F.A. size (see the picture on the right)
Mounting Mechanical clamp
Weight 0.01kg
Main materials * Surface processing Aluminium—Alumite finishing
ME340L-1-A BE340R-1-A
55 . 16 35 35 16 5.5
H uwy
| L = 3 J |
V groove hold :r
s = (I o~ S
BN ‘;l = id Q iy
‘ ) ‘ ) — —
l rositioning pin 25 ‘ ‘ o

Knob for clamping

3.5~45
(MAX 11)
jﬂ

55




g'é'l'?(‘i'& EW50 Accessories List

@®You can select according to the type of fiber to be used.

@Al fiber holders can be attached to tilt tables and tilt stages.

@The keyway aligns the optical axis with the center of rotation of the stage. Mounting on the tilt stage is easy with two
@®Some products require a separate vacuum device.

Fiber holder

Fiber holder Rotation fiber holder

Appearance

Uses

Model F260 F264 F264N

Fiber holder
Fiber array holder FC connector holder Ferrule holder Fiber holder with lens

Appearance J} !

|

Model F267 F261 F262 F268

Uses

ﬁ
|
|




SURUGA
SEIKIPFF

EW50 Accessories List

@This holder is to fix the core wire.
@ Available for 250 um and 900 um of jacket's radius.

Dimensional outline drawings

F260-1 F260-2
Clad diameter 125~250um F260 -
Jacket diameter 250um \ 900um
Fixing type Magnetic force
Weight 0.1kg

Main materials * Surface processing

Aluminium—White alumite treatment

Accessory: Installation screws (Hexagon socket head 2 of M3-10)

BF260-L

Fiber jacket partV groove for holding

Fiber clad part V groove for holding

=
1
E_!}_

th part V groove for holdin 20
2-M3 slotted hole for bolt /

17
oL
[N |
JIF_‘H I [
— o
[N |
i kol .
8 55 ¢ o
66

I = T o1l Option

L]
2[R
—|; Choice of

the clamp arm direction
Selection

of a fiber jacket diameter
1:For @250 um

2 For ¢900um
Type of holder

11



ggﬁ(li'& EW50 Accessories List

@This holder is for polarization—preserving fiber rotation.

@The positional alignment amount of the tip of optical fibers at the rotating is so small because this holder will rotate based on a cladding of optical fiber.
@Cladding is fixed by vacuum pump, and the jacket is fixed at the two points by the magnet.

@Correspond to a jacket diameter 250 um, 400 um and 900 um.

@A vacuum pump may be required when using this holder.

Fixed optical fiber cladding vacuum.

(When the jacket rotate, . ) _ .
also the cladding rotates.) Dimensional outline drawings

BF264-L
2-M3 slotted hole for bolt
18 14 6
Rotating scale \ |
(0 degree~330 degree, |
atintervals of 2 degree) =1 | /_\ =
. . _ =] o o d [~ Teo
Optical fiber jacket part Fiber rotation knob_{- [ 2 | /€0 || | \ g \%
The vacuum may cause it azku'L[ir H— i e JEH
to come loose from the Rotary clamp ! = lMJ 25
jacket characteristic. o ' —
Fiber jacket 16
V groove for holding 39,5
$3.5 (Hose plug) -
335 365 Fiber clad part _
12 205 Vacuum for holding
B Model/ Option P |_‘ 7 2
. F264-1 F264-2 F264-3 — - —
T B 1 SN
Clad diameter 125um F264-2 by FITT LA
Jacket diameter 250um | 900um \ 400um —71 @@ fH R -
Fixing type Vacuuming and magnetic force _ - | |1 : [ ~
Travel distance 360" (2” scal] L Saectionof oot kel dameer 225 |14
Weight 0.2kg 1:For p250um ‘ :
Main materials + Surface processing Aluminium—White alumite treatment  Stainless g : Eg: gﬂggﬂm 20 ' 20
(3%Fiber clad part) Type of holder

Accessory: 2m of silicon hose and installation screws (Hexagon socket head 2 of M3-10)

12



SURUGA
SEIKID—

EW50 Accessories List

Rotation Fiber Holder:F264

@ Without vacuum on the tip.

I e ode!/ Option

Model F264N-1 F264N-2 F264N-3
L | R L R L | R

Jacket diameter 250um 900um 400um

Fixing type Magnetic force

Travel distance 360° (2° scale)

Weight 0.1kg

Main materials  Surface processing Aluminum-White alumite treatment

Accessory: Installation screws (Hexagon socket head 2 of M3-10)

1
F264N- 2
3

W Tilt stage mounted example

R

LChoice of the clamp arm direction
Selection of a fiber jacket diameter

Dimensional outline drawings

BMF264N-L

2-M3 slotted hole for bolt

Rotating scale

(0 degree~330 degree,
at intervals of 2 degree)

Fiber rotation knob |

1:For @250 um
2 - For ¢ 900 m
3. For 400 um
Type of holder

1 [

]

[

Rotary clamp _—[lli,

Fiber jacket holding part

(V groove for holding)

34

(1

¢37

2.5

13

21

20

13



glélllla(lilgﬁ EW50 Accessories List

| Fiber Array Holder: F267
@Holder for fixing the fiber array.

@Fix the fiber array with mechanical clamp from upper.
@The only 3~8mm fiber array can be fixed. Other sizes may be mounted with any parts

change. BF267-L
N Fiber jacket o N
.Exan]ple of mounting Part of holding E—*\J
the fiber array - l]‘=| s G2
B S

i | =
[l A
AN
2-M3 slotted hole for bolt /'/ 30 l 18 \ Array holding plate
1~3(Applied device thickness)

- 3~B(Applied devicet width)
e (I 7 )
N
Model F2o1 - EL ]
L R = o
Fixing type Mechanical clamp
Weight 0.09kg
Main materials + Surface processing Aluminum-White alumite treatment
Accessory: Installation screws (Hexagon socket head 2 of M3-10)
B Model/Option M Compatible with fiber array size

L
F267-7

"L Selecta clamp arm direction
Type of holder

14



glélllla(lilgﬁ EW50 Accessories List

| FC Connector Holder: F261
@Holder for fixing the fiber with FC connector.

@This is a combination of adaptor F16 for a connector and bracket A54 for element adaptor.

@ There are two types, one with sheath hold part and the other without sheath hold the part. BF261B-1
@The ferrule end-face is positioned off approx.5mm

2-M3 slotted hole for bolt

the receptacle when a FC connector is inserted. /
e
B Connector mounting example :|| I 4
L o
S
B
30 ‘ 20.5 F16-2
' N © ©
H . s
c : FSg
R M I \ I B E @ @
Model F261A-1 F261B-1 = ’ : M
Applicable fiber Fiber with FC connector : 15 9 g
Adoptor F16-2 F16-2
The hold part for sheath No Yes 8 54.5 40
Weight 0.06kg 0.07kg 625
Main matenals - Surface processing Aluminium—Alumite finishing
Accessory: Installation screws (Hexagon socket head 2 of M3-10)
B Model/Option
F261/A - 1
B

Select the hold part for sheath
ATNA BrA
Type of holder




SEIKIP EW50 Accessories List

| Ferrule Holder: F262
@Holder for fixing the optical fiber with ferrule.

@This is a combination of adaptor F15 for ferrule and bracket A54 for element adaptor.
@There are two types, one with sheath hold part and the other without sheath hold the part. BF262B
@Non-standard hole diameter is available. Please contact us for maore information. Ferrule into the hole

2-M3 slotted hole for bolt

and tentatively fasten it using an Allen wrench. It is fixed by surface contact without damaging ferrule.
/ Ferule fixation screw(M3)
. =" i
MConnector mounting example [ — /
IS E—
'|-|_L-C ]
30 | 20|

h=g

=
S
oo

75

27.5 | ‘
—
N
1
@ }J
lo | o/
a6
21
bl
[] [s]
(=] =]
]

o]

|
o | g = | B al | g
F262B-1"8 \ / 8 54 10 10
62
Model F262A-1.8|F262A-2.5|F262A-3.0|F262B-1.8|F262B-2.5|F262B-3.0 B Mount
Mgl Ganete(¢9) | 1.8mm | 25mm | 30mm | 1.8mm | 25mm | 3.0mm ounting
Adoptor F15-1.8 | F15-25 | F15-3.0 | F15-1.8 | F15-25 | F15-3.0  Ferrule into the hole and tentatively fasten it 7 Allen wrench
The hold part for sheath No Yes using an Allen wrench.
Weight 0.06kg 0.07kg It is fixed by surface contact without damaging
N i« S rvessg Aluminium—Alumite finishing ferrule. | Femieadaptor
Accessory: Installation screws (Hexagon socket head 2 of M3-10)
B Model/ Option N

IE %;ﬁcal fiber with ferrule
F262 -

3.0
—|—— Select the ferrule diameter (mm)
1.8, 25. 30
Select the hold part for sheath
ANA B:A
Type of holder

16



SURUGA
SEIKIPFF

EW50 Accessories List

| Fiber Holder with Lens: F268

Model F268-d
: : @4~@14.5mm
Applicable diameter (¢od) L
Adoptor F510C-d
Weight 0.08kg
Main materials + Surface processing Aluminium—Alumite finishing  ¢od part: No treatment
Accessory: Installation screw (hexagon socket head cap bolt 2 of M3-10)
M Model/ Option
F268-d

-

Applicable diameter d
4~145mm every 0.1mm

Type of holder

@Holder for fixing the cylindrical elements such as optical fiber with a lens.
@This is a combination of adaptor F510C for a lens and bracket A54 for element adaptor.
@Please choose a compatible with element diameter (¢od) when you order.

BF268-d
2-M3 slotted hole for bolt
/ M3 fixation screw
- - ~ i
i /.
7 o0
: | \ )

! 30 |20 |
) @d +0.2
M~ T

ﬁ
4 i
&L\
o

275
L
I
H
21
2.5 ’—|
st

17



SURUGA

SEIKIFE EW50 Accessories List

Vacuum pump. V10A ( cannot be sold to the European region as it is not CE declared)

Vacuum pump for rotating fiber holders ( F263, F264, F265, FS266 ) and waveguide holders ( F270, F271, F272, F273, F274, E400, E410 ). Since this pump is a
linear motor driven free piston system, it is compact, lightweight, low noise, low vibration, and oilless, so you can use it with confidence.

Model V10A
|Itimate vacuum —33.3kPa
Qpen flow rate 64/ min
Electricity consumption 15/14W
Rated time Continwaus
Service time 5,000 hours

1 Discharne and inhalation size Coupler for ¢4 hose
Power supply ACT100V  S0/60Hz
Power code 2.5m (Inlet with ground wire)
Power switch Locker switch
Size 135(L) =91 (W) x 146 (H)mm
Weight 1.5kn

-Vacuum pump set: EV10A

U

Wk

A vacuum pump set for fiber
holders and device holders.
Use the release valve

attached to the breadboard.

M Configurations
Product name Model
Vacuum pump V10A
Release vahe V11-5A
Plate E10

Accessory © Two tubes, screws [ hexagon-headed bolt 4 of M4-22
hexagon-headed bolt 2 of ME-14

)

#:2m tube s attached to a vacuum pump.
#:2m tube is attached to a manihold and release valve.

* Ultimate vacuum Indicates the degree of vacuum when the pump is
operated with the suction port closed.

* Flow rate when open Indicates the flow rate when the degree of
vacuum is O . (reference amount)

= Power consumption Indicates the maximum input power within the
range up to the ultimate vacuum.

* Rated time Indicates the time the product can be used within the coil
temperature limit of 115° C.

* Durable time When the discharge flow rate is higher than the rated flow
rate when used under the rated conditions.

Refers to the cumulative usage time from 10 % to

20 % or less.
Conditions of use (how to use, replacement of consumable parts), place
of use, ambient temperature

Please note that the service life may vary depending on factors such as

- Vacuum tweezers: V12A

V12A using the vacuum pump V10A can
be used as a suction pin with your
fingertips.

It is easy to use, as if it had been set,
and can pick up and move minute parts,
lenses, etc.

This product is a set of vacuum pump
V10A and tweezers. Purchase tweezers
only

Please inquire separately if you wish to.

B Configurations
Model V12A
Vacuum pump V10A
Tweezers with valve
Tweezers #12144.5mm  18g
Tube Z2m
Meedle ¢1.0mm
Accessory Pad ¢4 pEmm
Twesezers Stand

18



SURUGA

SEIKI™™~  EW50 Accessory List Check Sheet

e I )

Device unit fixed type E1000-h

Waveguide holder

Preset type ( E410-B included)

Mechanical clamp

Preset base

E410-6
E410-8
E410-10
E410-20
E410-30
E410-40
E410-8N
E410-10N
E410-20N
E410-B

6X38mm
8X38mm
10X 38mm
20X 38mm
30X 38mm
40X 38mm
8X38mm
10X 38mm
20X 38mm

Vacuum + Mechanical clamp

Mechanical clamp

Waveguide holder E400-8N _ 8X38mm
E400-10N 10X 38mm
E400-20N 20X 38mm
E300-L -
E300-R -
Fiber holder E310-1L

E310-1R

E310-2L

E310-2R

V-groove holder |5 4 E330-dL d=

E330-dR d=

E340-L t= W=
E340-R t= W=
Vacuum pump V10A

Vacuum pump set EV10A

Fiber holder Preset formula Preset base

é :

Fiber=6 250 um

-

Fiber = 900 um _ _

Ay

Array holder

Vacuum pumps (excluding Europe)

Vacuum tweezers V12A



SURUGA
SEIKIV

EW50 Accessory List Check Sheet

ty

Fiber holder F2_ series

ity

Fiber array holder

Fiber holder F2_ series

Fiber holder

FC connector holder

Ferrule holder

Fiber holder with lens

F260-1L
F260-1R
F260-2L
F260-2R
F264-1L
F264-1R
F264-2L
F264-2R
F264-3L
F264-3R
F264N-1L
F264N-1R
F264N-2L
F264N-2R
F264N-3L
F264N-3L

F267-L
F267-R
F261A-1

F261B-1
F262A-1.8
F262A-2.5
F262A-3.0
F262B-1.8
F262B-2.5
F262B-3.0
F268-d

Mechanical

Vacuum type

Mechanical

Mechanical

Sheath hold

Sheath hold

Mechanical

Fiber jacket 250 um

Fiber cladding 125-250um

Fiber cladding 125 um

Fiber cladding 125 um

No

Yes

Fiber jacket 900 um

Fiber jacket 250 um

Fiber jacket 900 um

Fiber jacket 400 um

Fiber jacket 250 um

Fiber jacket 900 um

Fiber jacket 400 um

L=MIN 3mm, W=3-8mm, t=1-3mm

No

Yes
éd=1.8mm
dd=25mm
éd = 3.0mm
éd=1.8mm
éd=25mm
éd = 3.0mm
d=d4 to 14.5mm (0.1mm Setp ) d=

20



SURUGA
SEIKIV

EW50 replacement parts

ity

12 axis controller

EW50

6 axis stage

Connection cable

DA1000-JP Designed for Japan

DA1000-EU Designed for Europe

DA1000-TW Designed for Taiwan

DA1000-US Designed for North America
DA1000-CN Designed for Chinese specification
EW10-STL10 Motorized stage unit L
EW10-STR10 Motorized stage unit L

D214-3-3R2 28 standard motor cable (3m)
D214-3-3RE2 28 standard encoder cable (3m)
D214-3-3R2H 28 high resolution motor cable (3 m)
D214-3-3RE2H 28 high resolution encoder cable (3 m)
D214-3-3RS Sensor cable (3 m)

21



	スライド 0: Optional parts of EW50

	スライド 1: EW50 Accessories List
	スライド 2: EW50 Accessories List
	スライド 3: EW50 Accessories List
	スライド 4: EW50 Accessories List
	スライド 5: EW50 Accessories List
	スライド 6: EW50 Accessories List
	スライド 7: EW50 Accessories List
	スライド 8: EW50 Accessories List
	スライド 9: EW50 Accessories List
	スライド 10: EW50 Accessories List
	スライド 11: EW50 Accessories List
	スライド 12: EW50 Accessories List
	スライド 13: EW50 Accessories List
	スライド 14: EW50 Accessories List
	スライド 15: EW50 Accessories List
	スライド 16: EW50 Accessories List
	スライド 17: EW50 Accessories List
	スライド 18: EW50 Accessories List
	スライド 19: EW50 Accessory List Check Sheet
	スライド 20: EW50 Accessory List Check Sheet
	スライド 21: EW50 replacement parts

